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PART-D
Answer any Two Questions. Each answer should not exceed Six pages.
(2x10=20)
Critically examine the impacts of economic reforms on major sectors of Indian
economy.
Critically examine Industrial Policy Resolution of 1991.

Write a note on gender differentials in employment growth in India during
the past three decades.

Write a note on the progress of Kerala on socio-economic indicators
compared to all India situation.
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ECONOMICS/APPLIED ECONOMICS/DEVELOPMENT ECONOMICS

ECO1C04 ; DEVELOPMENT ISSUES OF INDIAN ECONOMY
(WITH SPECIAL REFERENCE TO KERALA)-I

Max. Marks : 60

PART - A
(Objective Type Questions)
(Write all the Eight Questions. Each question carries %2 Marks) (Bx'2=4)
IPR - 1991 endorses:
A. Nationalization of all small scale industries
B. Disinvestment of PSUs

~ C. Government withdrawal from industrial production.

D. Import Substitution

Primary deficit is:

A. Fiscal deficit + interest payment

B. Fiscal deficit — interest payment

C. Fiscal deficit + revenue deficit

D. Fiscal deficit — Revenue deficit

Kudumba Shree Mission in Kerala has been working under:
A. Kerala State Women's Commission.

B. Kerala State Women’s Development Corporation.
C. Social Justice Department.

D. Local Self Government Department
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Which of the following statement is wrong:

A. Increasing trend of contractulisation in the organized factory sector since
1990’s.

B. 84% of the workers are in the unorganized informal sector
C. There is increasing trend of employment elasticity since 1972-73.

D. There is a long - term trend of a decline in the rate of employment
growth since 1972-73.

Gender gap in literacy rate of India based on Population Census 2011:
A. 16.68

B. 957
C. 21.59
D. 15.01

The Current Account of Balance of Payments does not include:
A. Trade in goods

B. Factor Remittances

C. Income on Investments

D. Loans received.

Identify the odd financial year regarding Indian Five Year Plans:
A, 1992-93

B. 1890-91
C. 1965-66
D. 1980-81

High fiscal deficit may lead to: .
A. Increase in domestic interest rate
B. Reduction in private investment
C. Rise in CAD

D. All the above
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PART B

(Short Answer Type Questions. Write any E:ght questions. Each question
carries 2 Marks) (8x2=16)

What are the health sector challenges of Kerala?
Distinguish between FDI and FPI

Explain a brief note on the growth of service sector economy.
What are the causes of poverty in India?

What is GDP at Market Price?

What is humanresource management?

What are the demographic challenges of Kerala?
What is economic planning?

What is Demographic Dividend?

What is Disinvestment?

What is Gross Value Added (GVA)?

PART C

(Short Essay Type Questions. Write any Four Questions. Each answer
should not exceed two and half a page. (4x5=20)

Critically examine the Kerala development experience on health and
education.

What are the demographic challenges of India?

What is right based approach in development?

What is the role of institution in economic development?

What are the gender issues in the human development of India?
Critically examine the Ails of Kerala's higher Education

Critically assess the demographic transition in Kerala since 1951.
Write a note on structural changes in Kerala.
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